Name _________________    

Divide using long division. Check your answers.

1. (x2 ( 13x – 48) ÷ (x + 3)
3. (x3 + 5x2 ( 3x – 1) ÷ (x ( 1)

4. (3x3 ( x2 ( 7x + 6) ÷ (x + 2)
Using Remainder Theorem determine whether each binomial is a factor of x3 + 3x2 ( 10x ( 24.

4.   x + 4
                     5.   x ( 3

6.   x + 6

Divide 
7. (x3 ( 8x2 + 17x ( 10) ÷ (x ( 5)


8. (x3 + 5x2 ( x ( 9) ÷ (x + 2)
9. ((2x3 + 15x2 ( 22x ( 15) ÷ (x ( 3)


10. (x3 + 7x2 + 15x + 9) ÷ (x + 1)
11. (2x4 + 3x3 ( 4x2 + x + 1) ÷ (2x ( 1) 

13.  (x+3)3
14.  (x-2)4
15.   (x+3)6

16.   (x-2)5
